
 
 

Trigonometric identities 

𝒕𝒂𝒏 𝜽 =
𝒔𝒊𝒏 𝜽

𝒄𝒐𝒔 𝜽
 

 

𝒔𝒊𝒏𝟐𝜽 + 𝒄𝒐𝒔𝟐𝜽 = 𝟏 
  

Examples 

Prove that 1 − tan𝜃 sin 𝜃 cos 𝜃 ≡ cos2 𝜃 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

Prove that tan 𝜃 +
1

tan𝜃
≡

1

sin𝜃 cos𝜃
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Simplify 5 − 5 sin2 𝜃 

 

 

 

 

 

 

 

 

 

 



 
 

Test your understanding 

Prove that 
tan𝑥 cos𝑥

√1−cos2 𝑥
≡ 1 

 

 

 

 

 

 

 

 

 

 

 

 

Prove that 
cos4 𝜃−sin4 𝜃

cos2 𝜃
≡ 1 − tan2 𝜃 

 

 

 

 

 

 

 

 

 

 

 



 
 

Prove that tan2 𝜃 ≡
1

cos2 𝜃
− 1 
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